Plastic Bands

j% 103

Part number A10467 Polypropylene vertical band set for coated steel pipe (ory) Units (nm)  Part number A10467 Polypropylene vertical band set for VP pipe (beige) Units (mm)
Size Applicable Bracketpl 3 f Applicable x ;
; i pipe | Tightening bolt | Anchor Size (diameter size x Bracketpipe|  Tightening bolt | Anchor
Sfzacode (dlame}g;;;ef; stiank 'gm::{:’ diameter Dia. x Length pitch 2lzecotle shank length L) %ﬂ;oel;‘:rr diameter (DxL) pitch
1484 C15x  50L 25.7 16 M6X30 44 1925 A40x 50U 48.0 16 M6x30 44
1499 Cc15x 750 25.7 16 M6xX30 44 1930 A40Xx 65 48.0 16 M6x30 44
1501 C15x 100L 25.7 16 M6X30 44 1944 A40x 75 48.0 16 M6X30 44
1516 C15% 150L 25.7 16 M6X30 44 1959 A40x 100L 48.0 16 M6x30 44
1535 C20x 50L 31.2 16 M6x30 44 1963 A40x 1250 48.0 16 M6x30 44
1540 C20x 75L 31.2 16 M6X30 44 1978 A40% 150L 48.0 16 M6X30 44
1554 C20% 100L 312 16 M6x30 44 1982 A40x 200L 48.0 16 M6X30 44
1569 C20% 150L 31.2 16 M6X30 44 1997 AB50X 50L 60.0 16 M6x30 44
1573 C25% 50L 37.6 16 M6x30 44 2001 A50x 65L 60.0 16 M6%30 44
1588 C25%x 75 37.6 16 M6X30 44 2016 A50Xx 75 60.0 16 M6x30 44
1502 C25% 100L 37.6 16 M6x30 44 2035 A50x 100L 60.0 16 M6%30 44
1605 C25x 150L 37.6 16 M6x30 44 2040 AB0X 1250 60.0 16 M6x30 44
2054 A50x 150L 60.0 16 M6x30 44
2069 AB0X 200L 60.0 16 M6X30 44
Part number A10467 Polypropylene vertical band set for copper pipe (white) Units (mm) gggg Aggx ‘75:'- 76.0 20 M8x40 64
- . A65% 75L 76.0 20 M8x40 64
Siecode | (d etersslizzee st Aplpphcaz:ra Bracket pipe | Tighteningbolt | Anchor %}(1)3 ﬁggx }ggt ;gg gg ngig gg
am x shan| pe oulf I . X s X
length L diameter | dameler | Diaxlenghh | pitch 2124 AGSX 1501 76.0 20 M8X40 64
139 AB5% 200L 76.0 20 M8x40 64
161 -1x : 6 bs
o | Twi< or | Bl o | Mew | 4 2158 | ABDx gL | 80 | 20 maxao | 64
1639 TW-1x 751 15.88 16 M6X30 44 2162 ABOX 75L 89.0 20 M8x40 64
1643 TW-1x 100L 15.88 16 M6X30 44 2177 A80% 100L 89.0 20 M8x40 64
1658 TW-1x 1251 15.88 16 M6X30 44 2181 A80x 1251 89.0 20 M8x40 64
1662 TW-1x 150L | 15.88 16 M6X30 4 2 Ablx 150 G L o4
1677 TW-1x 200L 15.88 16 M6x30 44 2209 A80x 200L. 89.0 20 M8x40 64
1681 TW-5x  50L 20,99 16 M6x30 44 2228 A100x 65L 114.0 20 M8x40 64
1696 TW-5x  65L 22.22 16 M6xX30 44 2232 A100% 75L 114.0 20 M8x40 64
1709 TW-5% 75L 2999 16 M6X30 44 2247 A100x 100L 114.0 20 M8x40 64
713 5% TO0L e = e o 2251 A100x 125L 114.0 20 M8x40 64
1728 TW-5% 1251 9999 16 M6x30 44 2266 A100x 150L 114.0 20 M8x40 64
1732 TW-5% 150L 2299 16 M6x30 44 2285 A100x 200L 114.0 20 M8x40 64
| Twhosw | BE |l | Mes | @
7% : 1 X 44 . ; .
1766 W% BL e T ok 1 Part number A10467 Polypropylene vertical band set for VP pipe (white) Units (nm)
1785 TW-7X 75 28.58 16 M6x30 44 : Applicable .
1790 TW-7x 100L 28.58 16 M6x30 44 Size (diameter size x Bracket pipe . Anchor
1802 TW-7x 1250 | 2858 16 M6X30 44 Sizecode | “shank lengiL) | PIREOUEr | Zgmgter | Tiahtening bolt(DxL) gy
1817 TW-7% 150L 28.58 16 M6X30 44 o T o - B -
X 7 X
1821 TW-7x 200L 28.58 16 M6x30 44 5302 VW20x 85L 5.0 i M350 44
2317 VW20x 75L 26.0 16 M6X30 44
’ s 4 2321 VW20x 100L 26.0 16 M6x30 44
Part number A10467 Polypropylene vertical band set for coated copper pipe (White) Units (mn) 2336 VW20x 1251 26.0 16 M6x30 44
o i Anplicable | ..okt pipe | Tighteningbolt | Anch 200 | Vaoexaar %0 8 Maxa0 i
" racket pipe Igntening bol nchor X " X
5 Slzeode ("'a'"e}g:ls{;eL’)‘Sha"k PP OUIT | "jameter | Dia.xLength | pilch 2374 | vw25x 500 320 16 M6X30 4
b7 g 2389 VW25x 651 32.0 16 M6x30 44
=+ 1836 P20Xx 50L 31.0 16 M6%30 44 2393 VW25x 751 32.0 16 M6x30 44
(9] 1855 P20X 65L 31.0 16 M6x30 44 2406 VW25% 100L 32.0 16 M6%30 44
@ 1860 P20Xx 75L 31.0 16 M6%30 44 2425 VW25 1251 32.0 16 M6x30 44
& 1874 P20% 100L 31.0 16 M6%30 44 2430 VW25% 150L 32.0 16 M6%30 44
5 1889 P20x 125 31.0 16 M6x30 44 2444 VW25% 200L 32.0 16 M6x30 44
o 1893 P20x 150L 31.0 16 M6x30 44 2459 VWa2x 501 38.0 16 M6x30 44
%) 1906 P20Xx 200L 31.0 16 M6x30 44 2463 VW32X 65L 38.0 16 M6x30 44
2478 VW32X 75L 38.0 16 M6%30 44
2482 VW32x 100L 38.0 16 M6%30 44
2497 VW32 1251 38.0 16 MB%30 44
2500 VW32 150L 38.0 16 M6%30 44
2514 VW32x 200L 38.0 16 M6%30 44
1 Polypropylene T-bracket
Mounting brackets for raised pipes
Units (mm) di
Ivory Part number Size code L Color
T T
ray &
A10509 0011 35 ory Ealiilks
White Plasto ResinT !
bandbar bracket Bolt/nut 7
N B,
[ [+ 0|+
B &+ %
«
, o
Installation L
example
w




